Standard Chemistry

Could You Be A Bit More Specific?

I. Complete the following chart showing your work: 
	Substance
	Initial 
Temperature
	Final
Temperature
	Temperature
change
	Energy 
Transferred 
(gained or lost?)

	2kg water
	20oC 
	30oC 
	+10oC
	Q = 2000 * 4.184 * 10 = 83680 J = 80000 J

gained

	2kg water
	20oC 
	40oC 
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	2 kg water
	20oC 
	50oC 
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	2kg water
	20oC 
	60oC 
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	2kg water
	293K 
	303K 
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	2kg water
	293K 
	313K 
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	2kg water
	293K
	323K 
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	Substance
	Initial 
Temperature
	Final
Temperature
	Temeprature
change
	Energy 
Transferred 
(gained or lost?)

	3kg water
	18oC 
	10oC 
	
	

	5L water
	15oC 
	5oC 
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	2kg water
	56oC 
	82oC 
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	7kg water
	83oC 
	42oC 
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	1.2L water
	285K 
	293K 
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	0.6kg water
	299K 
	280K 
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	1.3kg water
	312K
	321K 
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II. Solve the following problems:

Problem A. Given the specific heat of water=4186 J/kg ˚C. Brass is an alloy made from copper and zinc. A 0.66 kg brass sample at 98.6 degrees Celsius is dropped into 2.33 kg of water at 4.6 degrees Celsius. If the equilibrium temperature is 7.0 degrees Celsius, what is the specific heat capacity of brass in J/kg ˚C. 


Problem B.  A student drops metallic objects into a 224 g steel container holding 325 g of water at 28˚C. One object is a 472 g cube of copper that is initially at 87 degrees C, and the other is a chunk of aluminum that is initially at 9 degrees C. To the student’s surprise, the water reaches a final temperature of 28 degrees C, precisely where it started. What is the mass of the aluminum chunk? Assume the specific heat of copper and aluminum are 387 J/kg ˚C and 899 J/kg ˚C. 
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